<
R0
Kd
woll

&

L X Ol &

0

[

0

2, %)

&

(E+2l < O,

=3
K0

m| 22818
|Dr_“_2n/_oo
ko| <[ <
SABEE
3|s
|_Jr_u33
Ko | <<
E
=
QDI O | O | O
818
sls
S| S
H
S
Ry
00
Ol O | O | O
© | ©
8|8
>
||
2l
=
W..AmMu_.ZZOO
m
=|=|=|m
ol
W o B
Y
= L |
m)
wla| =)=

(St 0, E&, %)

=k
A
10

i
ol

sl |88 8|g|5|85|85|8| 85858588588
¥le|3| S| 3|2 ¥|l3|s|a|s|38|s|3]|cs|3]|S

Erﬁ__n/_OOOOn/._n/._OOOOOOOOOO

no| < <]«

KIo
olo|lo|lolo|lololo|loclolo|lolo|lolol ol o
S S| e

= 1< Q<

N | » ™| ™

Ko | < <1 <

E

D
olo|lolololaolaololocloloc|lolololol of o
o) o | @
© O ©

3| & YR

=<
uiks)
._..Au.__x._

00
olo|lolololaololo|locloloc|lolololol of o
o) o | @
© | ©
~ =~ &

ar | -

<l

S

@MZOOOO?_ZOOOOOOOOOO
<M

| = = = = =

IR RE IR RE | e |

= | I = | B = | BN = | B

| fof | ™| _ | _ | _ |
T|lo|uo|lM|=<|o|o|M0|=<|a|T|MO|=|D)|TT|M0
Hlol| || Al || ~|[H|ANV || ~|Hd|W| |~

wo:_oﬂ_.@@ maao_n./lmm mmﬂa&@ Hmm

00 M0 R0 KF < %0 B0 B0 < RoJUr=< ~N =<




O ZoIXI0AF HAHES
O SAMSZRICH) SOIX| GilAI2 Z10H ALY 234BHDIRIC]
- Yol OISO Ao LEtoZ 3Y 0|ae KHEHE 2AFol= AIZUHIH ¥FE XRol=s A Y
O g=4 NS S0 SO EH =0 HECcz dHs0 J|I6Ee Xe=z JI0HGHH,
F29 AFH| 2 =0 = =2 =0/, X <=010 st 22 252 222 &0 & sHat
O s2= (@91, 38, %)
= At NMEE =
sl e o o & o S Huse o
= H 1 234,000 234,000 0 0.00%
ol T A 1 234,000 234,000 0 0.00%
JBF £ 8 3 A 0 0 0 0 0.00%
J| = 0 0 0 0 0.00%
O AIRIE SZ2H (SHS 2 O, &, %)
= A dEe =
= A 1 234,000 234,000 0 0.00%
opg | 22 1 234,000 234,000 0 0.00%
BS | aprs 1 234,000 234,000 0 0.00%
ek
=X | JIEISEH 0 0 0 0 0.00%
At
DI 0 0 0 0 0.00%
A 0 0 0 0 0.00%
=
of sk | LB 0 0 0 0 0.00%
EOt ==
o [IEHSER 0 0 0 0 0.00%
Jla 0 0 0 0 0.00%
A 0 0 0 0 0.00%
PPN -
cH | Zetsl 0 0 0 0 0.00%
o Dleszany 0 0 0 0 0.00%
DI 0 0 0 0 0.00%
A 0 0 0 0 0.00%
J1EH | LB 0 0 0 0 0.00%
Ared s
JIEISE A 0 0 0 0 0.00%
Jl2 0 0 0 0 0.00%




O JoIXI0 A EHAE
O RO 2024E = Xl GlAHS Z600 AR 11772402121
O 222 M2sA)Y S S5 ALSS HiY L S XES= 2HE QIAIRRIZE AT oAt B Y
2 =0IXXIGIE S 3|0 SS8 =0IRNXE S JIGIE EXGH| Ao HXMAS HAS
O 2010 AED} 31816t0 8 SEct= #AS Qo oA HAS
O 32= (SH 2 0, B, %)
— At NMEE =
CIR e Ol & o SE Ot HRsd =55
= H 6 1,226,615 1,177,079 49,536 4.21%
o w3 6 1,226,615 1,177,079 49,536 4.21%
ol B E g 3 A 0 0 0 0 0.00%
J| =2 0 0 0 0 0.00%
O AIRIE SZ2H (SH2l N, B, %)
= A dET =
& A 6 1,226,615 1,177,079 49,536 4.21%
op |27 2 876,828 834,592 42,236 5.06%
f{ﬁ I8} 35| 2 876,828 834,592 42,236 5.06%
=X | JIEISEH 0 0 0 0 0.00%
Ak
} 12 0 0 0 0 0.00%
A 4 349,787 342,487 7,300 2.13%
sy
orat | LS 4 349,787 2,487 7,300 2.1%
=yl oo
o [IEHSER 0 0 0 0 0.00%
J|2 0 0 0 0 0.00%
A 0 0 0 0 0.00%
XX -
cH | Zetsl 0 0 0 0 0.00%
e [DEsea 0 0 0 0 0.00%
DI 0 0 0 0 0.00%
A 0 0 0 0 0.00%
J1EH | LB 0 0 0 0 0.00%
AbA =
JIEISE A 0 0 0 0 0.00%
12 0 0 0 0 0.00%




0lo

DO, EE, %)

8l i & A o
g T ol & = S8
H 4 338,937 25.03%
T -] A 4 368,937 25.03%
£ £ 9 3 A 0 0 0.00%
=] 0 0 0.00%
O AIE SZH N, R, %)
- A
-] = p| BN Ol A oM =u=
= A 4 368,937 25.03%
opy | 27 0 0.00%
8BS | aurs)y 0 0.00%
E<pe
=X | JIEIEE 3 A 0 0.00%
Ar
12 0 0.00%
A 2 75,277 32.05%
He
of st | LBHSIH 2 75,277 32.05%
Ao [EISE3AH 0.00%
3 0 0.00%
A 2 293,660 23.35%
PN
cr | Zersi 2 293,660 23.3%%
o Dlers s 0 0 0 0 0.00%
a2 0 0 0 0 0.00%
A 0 0 0 0 0.00%
Uk | 0 0 0 0 0.00%
JIEFSE 3 0 0 0 0 0.00%
Jl2 0 0 0 0 0.00%




O JoIXIol&F B st
O F=pIs= 0o 20243 & A0IX|0f S = 13HAY
O % YHBSHY ZTAIHAOZ 11IHAI (HAQIZDINLME 22l 2%, 22I0t2 0l0ISE, 1A 0Hel
ULXAHE 2, BSSOLHSE UNBE FASMAL XD, HAEA
LN, IIESZA0Y, IEZAMGA 29, SLTHILDE SEAHIA, LUUESSMHIA, Lo
HOHESAHIA)S BHAs
E00 HOIXl Ol& B FRIMSDIAIY HIS0| 2540l HESID, YHBWSHBI|2HE XA 18 3
1HE 61%01l 8t
O S2E (SH1 1 OH, B2, %)
= A HEc —

CIR oH Ol & o SE ot HRsd =g
= H 13 4,107,313 1,685,797 2,421,516  143.64%
T T | 13 4,107,313 1,669,797 2,437,516  145.98%
J B S &g 3 A 0 0 0 0 0.00%
J| = 0 0 16,000 16,000 =2

[ AIE ESZ2H (EHS1 2 0, &2, %)
— At HEc —
T F b e SE oia HusE  [Taas
=z 13 4,107,313 1,685,797 2,421,516 143.64%
ops | 2 10 3.639, 140 989,750 2,649,390 267.68%
2S | guslyy 10 3,639, 140 973,750 2,665,300 |  273.72%
=X | JIEISESA 0 0 0 0 0.00%
A
12 0 0 16,000 16,000 a2t
o |2 2 416,173 696,047 A279,874|  £40.21%
oyat | eI 2 416,173 696,047 ADT9.874|  Ad0.21%
=i —uis
o [IEHSER 0 0 0 0 0.00%
12 0 0 0 0 0.00%
2 0 0 0 0 0.00%
XX -
cHay | Zetsl 0 0 0 0 0.00%
o Dleszany 0 0 0 0 0.00%
12 0 0 0 0 0.00%
A 1 52,000 0 52,000 &5
JIE olHl5
Apey | B3I 1 52,000 0 52,000 =3
JIEFSE 3 0 0 0 0 0.00%




JIEL

Il

0.00%




O JoIXI0 A EHAE
O MR 20243 HOIXIMAES = 100 AF2l 14,5008 &
O 20449 = HolXlos ol AME AMESCaH(4) MESSIMHE HEAIY 2t LIS 22 24 I - &)
- F=&Z2 {6t} ot S
O S2H (@310, 32, %)
= A (e} ~
IR i Ol &k of o5 Olaos Husz =g
= H 1 14,500 4,800 9,700  202.08%
o] T =] A 1 14,500 4,800 9,700  202.08%
Jl B & 8 3 H 0 0 0 0 0.00%
Il =] 0 0 0 0 0.00%
O AIIYE S22 X (SHS) @ O, B, %)
— AH NMET =
2 = e Ol & SE Ol blwSz =28
= A 1 14,500 4,800 9,700 202.08%
opg | 222 0 0 0 0 0.00%
2S | s 0 0 0 0 0.00%
I
=X | JIEFEE S 0 0 0 0 0.00%
AF
iz 0 0 0 0 0.00%
A 1 14,500 4,800 9,700 202.08%
A g=c]
of5r | LEHSI 1 14,500 4,800 9,700 202.08%
got sois 0
e JIEFSESAH 0 0 0 0.00%
2 0 0 0 0 0.00%
A 0 0 0 0 0.00%
JADN
oyl | L3I 0 0 0 0 0.00%
Al JIEISE S A 0 0 0 0.00%
Jl2 0 0 0 0 0.00%
A 0 0 0 0 0.00%
J1EH | LBl 0 0 0 0 0.00%
At ==
JIEISE 3N 0 0 0 0 0.00%
DI 0 0 0 0 0.00%




O JoIXI0 A EHAE
O 2AZTEWS| 2024EE HIXI0f )8 B 400 At 713etRe)
O 2ZX= HEAF XFAIEE =AM A HES N2 S8t 4HS QAN Il &~
AECE HAGIYS.
O ANHETA 8 o1y 22 40 S ¢ 22 S8 SS DG 2A2EL 33 SOf Bre
O 32= (SH2l W, B, %)
— At NMEE =
CIR oH Ol & o SE Ot HRsd =55
= H 4 661,990 1,097,2% A435,306 |  A39.67%
o w3 4 661,990 1,097,2% A435,306|  A39.67%
B € ¢ 3 A 0 0 0 0 0.00%
J| 2 0 0 0 0 0.00%
O AIRIE SZ2H (SHS 2 O, &, %)
= A dEe =
= 8 W= O & o S oAk HlusSz BT
& A 4 661,990 1,097,29% A435,306 A39.67%
orA A H 0 0 0 0 0.00%
BE | asizy 0 0 0 0 0.00%
ek
=X | JIEISEH 0 0 0 0 0.00%
At
DI 0 0 0 0 0.00%
o A 2 161,970 315,110 A153,140 A48 .60%
oit | e 2 161,970 315, 110 A153,140|  A4B.6
=Pl oo
el JIEFEE SN 0 0 0 0 0.00%
Jla 0 0 0 0 0.00%
. e 2 500,020 782,186 A282,166 A36.07%
N
cH | Zetsl 2 500,020 782,186 A282,166 A36.07%
o Dleszany 0 0 0 0 0.00%
DI 0 0 0 0 0.00%
A 0 0 0 0 0.00%
J1EH | LB 0 0 0 0 0.00%
AbA =
JIEISE A 0 0 0 0 0.00%
Jl2 0 0 0 0 0.00%




O AoIXI0ar HAHESE
O MU 20245 MoK ot HUELXe HEAMY, JEsE JEY A2l AR E S22 AF 82484
pHRIQl,
O X2l 722 Al E8 H0 HEdX EEF ZESHD UM, 2LXel A 20HE 3g Ui 22 201=
ol &01Jt
tsst g2l Mgez 2=205t0 AN S& H0ILE SE M 20 S2lotAl EAH AolX|l JI=0 = A&st
H MlarS BHAE.
O S=8 (S N, M, %)
— At NE =
CIR e Ol & o % Do HRsd =g
= Al 2 721,132 778,847 AN57,715 AT .41%
ol T H 2 721,132 778,847 AB7 715 AT.41%
Jl Bt E 8 3 H 0 0 0 0 0.00%
pJ =) 0 0 0 0 0.00%
[ AEE S28 (S99, B %)
= A dEe =
= A 2 721,132 778,847 N57,715 AT 41%
ops | 2 0 0 0 0 0.00%
BE | asizy 0 0 0 0 0.00%
ek
=X | JIEISEH 0 0 0 0 0.00%
A
DI 0 0 0 0 0.00%
" A 2 721,132 778,847 N57,715 AT 41%
N G
of 5 | LB 2 721,132 778,847 N57,715 AT 41%
= ==
o [IEHSER 0 0 0 0 0.00%
Jla 0 0 0 0 0.00%
A 0 0 0 0 0.00%
JNPN
cHay | Zetsl 0 0 0 0 0.00%
o Dleszany 0 0 0 0 0.00%
DI 0 0 0 0 0.00%
A 0 0 0 0 0.00%
JIE
Al%f =R 0 0 0 0 0.00%
JIEISE A 0 0 0 0 0.00%




JIEL

Il

0.00%




O JoIXI0 A EHAE
O SIAH=U2| 2024 AOIX| KA 10 A 73BHORRIQL
O =0l dzdl= 2% HIZ0 F A =6IlAH HI20| =22122 IE ) 4S50 dSots AdXE
HEBID SHSUHAH 234 E HIotME 2HE REot0AF &
O sSZH (S0 OH, B, %)
= A TE T =
IR i Ol &k of o Olaos HRSE =58
= H 1 66,072 73,413 A7,341|  A10.00%
o g g H 1 66,072 73,413 A7,341  A10.00%
Jl B & 8 3 H 0 0 0 0 0.00%
7| 2 0 0 0 0 0.00%
O AIIYE S22 X (SHS) @ O, B, %)
- A MEE =
v = b G SE Oty HuSE  zam
= 1 66,072 73,413 AT,341 A10.00%
opg | 222 0 0 0 0 0.00%
2S | s 0 0 0 0 0.00%
I
=X | JIEFEE S 0 0 0 0 0.00%
AF
iz 0 0 0 0 0.00%
A 1 66,072 73,413 AT, 341 A10.00%
A g=c]
of5r | LEHSI 1 66,072 73,413 AT, 34 A10.00%
got s 0
Al JIEFSESAH 0 0 0 0.00%
2 0 0 0 0 0.00%
A 0 0 0 0 0.00%
JADN
oy | ZEHEI 0 0 0 0 0.00%
Al JIEISE S A 0 0 0 0.00%
Jl2 0 0 0 0 0.00%
A 0 0 0 0 0.00%
J1EH | LBl 0 0 0 0 0.00%
Abed oo
JIEISE 3N 0 0 0 0 0.00%
DI 0 0 0 0 0.00%




Y
X
S
OH
1]

O AoIXI0ar HAHESE
O A& nNsSWe| 2048 = HOIX| GlAS S1OH AFY 41084 0HRA 2
O HOHel Y Lot ZSWE 0/20] Hdde 2 DSR2 olsEHe SRS 2ok
WEAXZEAl AFEES XEX =XotD JAOH,
O X0l 222 0/8AS =2 ABIE %X 0128 U0 SHS =1 His BYE
O S=8 (S N, M, %)
— At NE =
CIR e Ol & o % Do HRsd =55
= Al 1 249,200 410,368 A161,168 | A39.27%
ol T A 1 249,200 410,368 A161,168| A39.27%
Jl Bt E 8 3 H 0 0 0 0 0.00%
pJ =) 0 0 0 0 0.00%
[ AEE S28 (@9 %, 22, %)
T = s e o Diaroy HuSE Ty
= A 1 249,200 410,368 A 161,168 A39.27%
ops | 2 0 0 0 0 0.00%
BE | asizy 0 0 0 0 0.00%
ek
=X | JIEISEH 0 0 0 0 0.00%
At
} DI 0 0 0 0 0.00%
- A 1 249,200 410,368 A 161,168 A39.27%
NG
of 5 | LB 1 249,200 410,368 A 161,168 A39.27%
=Pl oo
el JIEFEE SN 0 0 0 0 0.00%
Jla 0 0 0 0 0.00%
A 0 0 0 0 0.00%
PN
cH | Zetsl 0 0 0 0 0.00%
o Dleszany 0 0 0 0 0.00%
DI 0 0 0 0 0.00%
A 0 0 0 0 0.00%
J1EH | LB 0 0 0 0 0.00%
Ared s
JIEISE A 0 0 0 0 0.00%
Jl2 0 0 0 0 0.00%




O JoIXI0f & HAEE
O SHYLRDIO 2024 HOIK| KlAFS E2IH AFY 20624 DHRIQL
O HEOIYO & MY, QESD 292 EH0Z 45X ABS AHS 95| HABLE
O S22 (E491 00, B, %)
- = 4 =
SR i Ol &t o £ v Hesd =g
= % o 104,798 1,134,341 1,000,543 | A90.76%
T TR B 2 104,798 1,134,341 1,000,543 | AQ0.76%
ol B = 9 o3 3 0 0 0 0 0.00%
| = 0 0 0 0 0.00%
[ AtEE 23 (491 H, HE, %)
B o e =
s = He O & 25 ojaron Blaszd  m=yg
= 3 2 104,798 1,134,341 A1,009,543|  £90.76%
opg | 22 0 0 0 0 0.00%
g5 | gurg)y 0 0 0 0 0.00%
=
=% |JIEr=E s 0 0 0 0 0.00%
A
12 0 0 0 0 0.00%
mES 2 104,798 1,134,341 A1,009,543|  A%.76%
o5t | 2uks|H 2 104,798 1,134,341 A1.000.543|  A%.76%
ﬁg} JIErSE 5| 0 0 0 0 0.00%
12 0 0 0 0 0.00%
ey 0 0 0 0 0.00%
Al
cr | Zersi 0 0 0 0 0.00%
o Dlers s 0 0 0 0 0.00%
o2 0 0 0 0 0.00%
A 0 0 0 0 0.00%
JlEH | LIS 0 0 0 0 0.00%
At o
JIEtSE 3 0 0 0 0 0.00%
12 0 0 0 0 0.00%




O AoIXI0ar HAHESE
O 20248 SHQRIX| Olat2 100 AFY BHOLRI Q!
O oHAorM XIZI0] XIAIES Soll OlO] OLMOJA! HIAOZ OLMAILNE XA = Us A SAe=Z
HHd &
O sSZH (S 2 0, B, %)
= A TE T =
IR i Ol &k of o Olaos HRSE =58
= A 1 36,500 36,500 0 0.00%
T - R 1 36,500 36,500 0 0.00%
Jl B & 8 3 H 0 0 0 0 0.00%
7| 2 0 0 0 0 0.00%
O AIIYE S22 X (SHS) @ O, B, %)
- AH MEE =
2 = W Ol & SE Ol HluS2 =28
== A 1 36,500 36,500 0 0.00%
opg | 222 0 0 0 0 0.00%
BE | iy 0 0 0 0 0.00%
I
=X | JIEFEE S 0 0 0 0 0.00%
AF
J|2 0 0 0 0 0.00%
A 1 36,500 36,500 0 0.00%
A g=c]
oyar | LS 1 36,500 36,500 0 0.00%
Do g5y 0 0 0 0 0.00%
At _ i
2 0 0 0 0 0.00%
A 0 0 0 0 0.00%
PN
oy | ZEHEI 0 0 0 0 0.00%
Al JIEFSESAH 0 0 0 0.00%
1= 0 0 0 0 0.00%
A 0 0 0 0 0.00%
J1EH | LBl 0 0 0 0 0.00%
Abed oo
JIEISE 3N 0 0 0 0 0.00%
J|2 0 0 0 0 0.00%




O JoIXI0 A EHAE
O 20243 < SQIXI0ALS =300 A 19784021 Q!
O Mot & OFF HOAHES NG| QI8 AIASA BAE
O &= (4] 0N, M2, %)
= A Sl =
SR i Ol &t o £ v Hesd =g
= H 3 189,713 156,012 33,701 21.60%
al gl 3| Al 3 189,713 156,012 33,701 21.60%
ol B E ¢ 3 A 0 0 0 0 0.00%
] =] 0 0 0 0 0.00%
O MEE SZ2H (S| N, M2, %)
= A MET =
T = W= Ol & <4 SE Oflakod HlusS2 e
5 Al 3 189,713 156,012 33,701 21.60%
opg | 22 0 0 0 0 0.00%
BE | oz 0 0 0 0 0.00%
E<pe
=X [JIEIEESH 0 0 0 0 0.00%
Ar
|12 0 0 0 0 0.00%
A 2 186,073 156,012 30,061 19.27%
He
oyar | LEFSIH 2 186,073 156,012 30,061 19.27%
ot =uis 0
e JIEFSESAH 0 0 0 0.00%
1= 0 0 0 0 0.00%
A H 0 0 0 0 0.00%
PN
cr | Zersi 0 0 0 0 0.00%
S35t =uis 0
s JIEFSESAH 0 0 0 0.00%
2 0 0 0 0 0.00%
A 1 3,640 0 3,640 =5
JlEH | LIS 1 3,640 0 3,640 =3
A o
JIEFSE S 0 0 0 0 0.00%
Jl2 0 0 0 0 0.00%




<
Gy

O delXjoler Hyaet

o)
ol

o
o

-

oy

i

£l

=
1o

-
o

o

A, %)

DR, A

ok
0J

=3
K0

152.71%

152.71%

0.00%
0.00%

1,056,547

1,066,547

0
0

FSJEr=
SE (jiaboy

691,885
691,885

Ol & o4

1,748,432

1,748,432

0

3 A&

Al

Al

=1

E S

Il

il

Il

SO0, R, %)

ok

=

=k
A
10

i
ol

Bl S| S| 8| S|kl s|S|s|5|8|85[8|8|8|8
1 BN B B B B R A R B B A B D= D= D= D= = =
D —

Klo

N (e} (@) (@] () o o (e} (@) N N (@) (] () (e} (@] (@)
N 2 SRS S| D
nd «© ol o Q| o
_A_uﬂ__ 8 8| B 8|8
| =
E=)

] | — ~1 ™~
| | 8| 8 R 8

C._mu.N_ mw % &
k=)
._..Au.__x._
0
— — (@) (@) [aN] [aN]

EIE HE E
| ™= 3|3 =
<
S

WAMM Y] — — o (@] — — (@) (@) o (ap] (@) (@) () () (@) ()
=
m | = = = = =
o ) oy o
= | B = | o = | o = |
o |w| _|Blu| | _|®|uw| | _|@|u| | _|&|uw
T||lo|M|=|J|o|lio|=|oJ|o|0|=]|3)|a|N0
Hla| | ~s|Hdlal| |||V || ~|H|lol| |~
0 U0 &N RJ 3D B 00 =~ &I K = 107 31 a0
00 H0 R0 KF < 0 B0 B0 =< o= N=<







O AoIXI0ar HAHESE
O 20249 % SQIX| 0lAS 500 AR 1,050UHOHRl T A
O s34l 8 Y 2lls 22 2 Is3F3|2 Sol =0 NRASA JIH2 K &
O REXNY= HASAQ! HIRH KA, MBIHME SAXIR AIHS S5 25X e X S2 Sl
40| A2 A AP = E.
O sl|sl= sAIHHEDI L4 BES DK JISE =D &
O AZZ2AD= AZE2 220 SBES JIES H2510] 2E HHE0| QHECE ESZAI|DA &
O sSZH (S0 OH, B, %)
- A HEc =
IR oH> Ol &k of SE O oo HSE =55
= A 5 842,862 662,000 180,862 27 .3%
o B3 A 5 842,862 662,000 180,862 27 .3%
JBF & & 3 A 0 0 0 0 0.00%
7| 2 0 0 0 0 0.00%
O AIIYE S22 X (SHS) O, B, %)
- Ard HEC =
= Hl 5 842,862 662,000 180,862 27.3%
opy |27 2 578,062 875,000 203,062 54. 15%
ff B3| H| 2 578,062 375,000 203,062 54.15%
=X | JIEFEE S 0 0 0 0 0.00%
A
iz 0 0 0 0 0.00%
o A 3 264,800 287,000 222,200 NT.74%
oyat | LB 3 264,800 287,000 AZR200| AT
v
S ieszany 0 0 0 0 0.00%
2 0 0 0 0 0.00%
A 0 0 0 0 0.00%
PPN -
oy | ZEHEI 0 0 0 0 0.00%
R BLEREEE, 0 0 0 0 0.00%
Jl2 0 0 0 0 0.00%
A 0 0 0 0 0.00%
J1EH | LBl 0 0 0 0 0.00%
Argd oo
JIEISE 3N 0 0 0 0 0.00%
pI= 0 0 0 0 0.00%







